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      Answer any three questions from the following:                                              [ 3 × 10 = 30] 

 

1. a. State Hooke’s law and define Young's modulus. Write the dimension and S.I unit of Young's 

modulus. Does Young’s modulus depend on the physical dimension of a material? 

3+2+1 

b.  Using the flexure method, calculate the average Young's modulus from the data given below. 

               4 

i. Length of the bar (L) = 1 m                                                                          

ii. Breadth of the bar (b) = 1.5 cm 

iii.  Depth of the bar (d) = 0.5 cm  

 

Mass (M) 0.5 kg 1 kg 1.5 kg 

Depression (l) 0.32 cm 0.65 cm 1 cm 

 

 

2. a. Define modulus of rigidity and state its unit. What is the effect of increase of temperature 

on the rigidity modulus? How rigidity modulus related to Young’s modulus?              

                                              2+1+1                                                                     

b. Which quantity (L, b, d) should be measured very accurately to determine the modulus of 

rigidity by dynamical method and why?  

                                                                                                        2 

b. Using the dynamical method, calculate the average rigidity modulus from the data given 

below.                                                                                                                         4 

i. Length of the wire = 1.2 m                                                        

ii. Diameter of the wire= 0.9 mm 

iii. Moment of inertia of the suspended cylinder = 0.00025 kg-m2 

 

No of obs.  Time Period in 

second 

1 1.42 

2 1.4 

3 1.45 

 

3. a. Write down the expression for moment of inertia of a rectangular bar of length ‘L’, and 

breadth ‘b’ about an axis passing through its center of mass and perpendicular to its length. 

2 

b. Write down the expression for moment of inertia of a cylinder of length ‘L’, and 

radius ‘r’ about an axis passing through its center of mass and perpendicular to its 

length. 

2 



 

 

 

c. Write down the expression for moment of inertia of a cylinder (I2) in terms of moment 

of inertia of a rectangular bar (I1) considering oscillation time period about a vertical 

axis of empty cradle (T0), cradle with rectangular bar (T1) and cradle with cylinder 

(T2). 

2 

d. Calculate the moment of inertia of a cylinder from the data given below.  

4  

i.  Time period of empty cradle (T0) = 2 Sec                                              

ii.  Time period of cradle with rectangular bar (T1) = 3 Sec  

iii.  Time period of cradle with cylinder (T2) = 2.5 Sec 

iv. Moment of inertia of a rectangular bar (I1) = 0.00025 kg-m2 

                             

4.  a.  What is Compound Pendulum? Deduce an expression for its time period. 

2+5 

 b. Define radius of gyration and state the unit of it.  

2+1 

 

 

 

 

Answer scripts must be emailed to sem1gcityphysics@gmail.com within 15 minutes of the 

end of the examination 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

[Bengali Version] 

 
নিম্ননিনিত থেকে থে থেোি নতিটি প্রকের উত্তর দোও                      [3 × 10 = 30] 

 

1. a.     হুকের সূত্ৰ টি থিি এবং ইযোং গুণোকের সংজ্ঞো থিি, ইযোং গুণোকের মোত্ৰো এবং এসআই     

       ইউনিি থিি । ইযোং গুণোে নে থেোিও বস্তুর মোত্ৰোর উপর নির্ভর েকর? 

3+2+1 

b. Flexure পদ্ধনত বযবহোর েকর, িীকে থদওযো তেয থেকে গড় ইযোং গুণোে গণিো ের । 

 

i. দকের দদর্ঘ ভয (L) = 1m                                                                                          

ii. দকের প্রস্থ (b) =1.5 cm 

iii. দকের থবধ (d) = 0.5cm  

 

র্র  (M) 0.5 kg 1 kg 1.5 kg 

অবিমি (l) 0.32 cm 0.65 cm 1 cm 

 

2. a. দৃঢ়তো গুণোকের সংজ্ঞো থিি এবং ইহোর এেে নে? দৃঢ়তো গুণোকের উপর তোপমোত্ৰো বদৃ্ধদ্ধর প্রর্োব থিি? 

ইযংকযর গুণোকের সোকে দৃঢ়তো গুণোকের সম্পেভ থিি? 

                                             2+1+1    

b. Dynamical পদ্ধনত দ্বোরো দৃঢ়তো গুণোে নিধ ভোরকণর জিয আমোকদর থেোিটি (b,d, and L) িুব নির্ভ ভির্োকব 

পনরমোপ েরো উনেত এবং থেি?                                                                                           2 

   

c.  Dynamical পদ্ধনত বযবহোর েকর, িীকে থদওযো তেয থেকে গড় দৃঢ়তো গুণোে  গণিো ের।                                                    

      4 

i. তোকরর দদর্ঘ ভয = 1.2m                                                               

ii. তোকরর বযোস = 0.9 mm         

iii. নসনিন্ডোকরর জড়তো ভ্রমে = 0.00025 kg-m2 

 

পে ভকবক্ষণ সংিযো পে ভোযেোি   

1 1.42 s 

2 1.4 s 

3 1.45 s 

 

3. a. এেটি L দদকর্ঘ ভয, b প্রকস্থর আযতকক্ষত্ৰোেোর দকের জড়তো ভ্রমে নিণ ভকযর সূত্ৰ থিি                      

2 

b. এেটি L দদকর্ঘ ভয, r বযোসোকধ ভর থেোঙোেৃনত বস্তুর জড়তো ভ্রমে নিণ ভকযর সূত্ৰ থিি                            

2 

c. আযতকক্ষত্ৰোেোর দকের জড়তো ভ্রমে (I1), িোনি থদোিিোর থদোিিেোি (T0), থদোিিো + 

আযতকক্ষত্ৰোেোর দকের থদোিিেোি (T1), থদোিিো + থেোঙোেৃনত বস্তুর থদোিিেোি (T2) বযবহোর েকর, 

থেোঙোেৃনত বস্তুর জড়তো ভ্রমে (I2) নিণ ভকযর সূত্ৰ 

2 

 

 

 



 

 

d. িীকে থদওযো তেয থেকে এেটি থেোঙোেৃনত বস্তুর জড়তো ভ্রমে গণিো ের। 

4 

i. িোনি থদোিিোর থদোিিেোি (T0) = 2 থসকেন্ড                                                                           

ii. থদোিিো + আযতকক্ষত্ৰোেোর দকের থদোিিেোি (T1) = 3 থসকেন্ড                                         

iii. থদোিিো + থেোঙোেৃনত বস্তুর থদোিিেোি (T2) = 2.5 থসকেন্ড                                             

iv. আযতকক্ষত্ৰোেোর দকের জড়তো ভ্রমে (I1) = 0.00025 kg-m2 

 

4. a.  Compound Pendulum নে?  ইহোর থদোিিেোি নিণ ভয ের।  

2+5 

b. েক্রগনত বযোসোকধ ভর সংজ্ঞো এবং এেে থিি।   

2+1 

 

 

 

 

 

Answer scripts must be emailed to sem1gcityphysics@gmail.com within 15 minutes of the 

end of the examination. 


